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(e) (potassium) ions increase the concentration of the solution (inside guard cells)

or

(potassium) ions make cell more concentrated / less dilute

allow (potassium) ions decrease concentration of water / water

potential (of guard cells)

1

water moves into the (guard) cell by osmosis

1

cell swells unevenly (so stoma opens)

1

as inner wall is less flexible than outer wall or thick part of the wall is less flexible than the

thin part (of the wall)

1
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(c) leaves wilt 1

because plants lose too much water (by evaporation)

1

through the stomata

or

because cells become plamolysed

or
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stomata close

controlled by guard cells to prevent wilting

1
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(c) (i) guard cells 1

(ii) (stomata are) closed

allow there is no gap / space

1

(iii) plant will wilt / droop

ignore die

1
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(b) (i) movement / spreading out of particles / molecules / ions / atoms

ignore names of substances / ‘gases’ 1

from high to low concentration

accept down concentration gradient

ignore ‘along’ / ‘across’ gradient

ignore ‘with’ gradient

1
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